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SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-10) Answer ALL the questions

1.     What is financial statement analysis?
2.     How do you show the following items in a comparative income statement?
	Particulars
	31.3.2016 (in `)
	31.3.2017 (in `)

	sales
	20,00,000
	24,00,000

	Cost of sales
	16,00,000
	21,00,000







3.     Explain the meaning of ROI.
4.     Find out the EPS from the following?
                  Net profit after tax : 2,00,000
                  10% Preference share capital: 4,00,000
                  Equity share capital (`100 each): 10,00,000
5.     What is working capital?
6.      Ascertain the changes in working capital from following:
                  Increase in some items of current assets: ` 12,000
                  Decrease in some items of current assets: ` 9,000
                  Increase in some items of current liabilities: ` 10,000
                  Decrease in some items of current liabilities: ` 12,000
7.      Compute the contribution and profit.
Sales      		` 2, 50,000 
Marginal cost 	` 1, 00,000
Fixed cost		` 50,000
8.      What is P/V Ratio?
9.       Calculate labour cost variance from the following data:
Standard hours: 80 hrs
 Standard Rate: ` 6/hr
Actual hours: 100 hrs
Actual rate: `8/hr.
10.     What is Variance analysis?
SECTION B – (5 × 5 = 25 marks)
(Q.No. 11-18) Answer any FIVE questions

11.      Discuss the scope of management accounting.
12.      What are the uses of ratio analysis?
13.      The Following Information is given:
	(a) Stock turnover: 5 times
	(b) Stock at the end is `5,000 more than stock at the beginning
(c)  Sales (all credit): `2,00,000
(d) Gross profit ratio: 20%
(e) Current liabilities - `60,000
 (f) Quick ratio - 0.75 
 (
[P.T.O.]
)             Calculate (a) Current Assets  (b) Working Capital (c) Stock at beginning and at end (d) Gross profit.
14.       The sales turnover and profit during two years were as follows:
	year
	Sales
	Profit

	2007
	1,40,000
	15,000

	2008
	1,60,000
	20,000






               Calculate
            	 	i. P/V ratio
            	 	ii. Break even point
             		iii. Sales required to earn a profit of ` 40,000
              		iv. Fixed expenses
              		v. Profit when sales are ` 1,20,000
15.      From following data calculate
 		(a) P/V Ratio; 
                  (b) BEP; 
                  (c) Margin of safety
Total sales: ` 3, 60,000
 			Selling price per unit: ` 100
 			Variable cost per unit: ` 50
 			Fixed cost: `1, 00,000
                  (d) If the selling price is reduced to `90, by how much is the margin of safety reduced.

16.     With the following data for 60% activity (240 units), prepare a budget for 80% activity:
		Materials                                     `10/unit
		Wages                                          `.6/unit
		Factory overheads                       `6000 (20% Fixed)
		Administrative overheads           `2400 (10% Variable)
17.     From the Following details Calculate Funds from operation?
	Particulars
	Amount
	Particulars
	Amount

	Depreciation on plant
	5000
	Profit on sale of land
	5000

	Provision for tax
	4000
	Closing balance of P&L 
	60000

	Loss on sale of plant
	2000
	Discount on issue of shares
	2000

	Opening balance of P&L a/c
	25000
	Provision for bad debts
	1000

	Transfer to General Reserve
	1000
	Preliminary expenses written off
	3000

	Goodwill written off
	2000
	Proposed dividend
	6000

	Dividend received
	5000
	Refund of tax
	3000














18       From the following particulars, Calculate
Material price variance
Material usage variance
Material cost variance
Material purchased – 3,000 kgs at ` 6 per kg.
Standard quantity of material fixed for one unit of finished product – 25 kgs at `4 per kg.
Opening stock of material – Nil
Closing stock of material – 500 kgs
Actual output during the period – 80 units


SECTION C – (2 × 15 = 30 marks)
PART – A – Case Study – Q. No. 19 Compulsory Question

19.     Ramesh Limited is engaged in the business of manufacturing and selling television sets. The company is   
             earning huge profits and wants to expand its business in various areas. Before going in for expansion, it   
            wants to know about its liquidity, profitability and solvency aspects.
 (a) What are the ratios that are to be used for understanding its position? 
[bookmark: _GoBack](b) Advice Mr. Ramesh about the need for knowing various ratios of the accounts of the firm.

PART – B
(Q.No. 20-21) Answer any ONE question
20.      The balance sheet of S.A Ltd. for the years 2016 and 2017 were as follows:
									Balance sheet
	Liabilities
	2016 (INR)
	2017 (INR)
	Assets
	2016 (INR)
	2017 (INR)

	Share capital
	1,50,000
	1,75,000
	Buildings
	1,10,000
	1,50,000

	Profit &Loss a/c
	20,000
	80,000
	Plant
	2,00,000
	1,40,000

	Loan from bank
	1,40,000
	20,000
	Stock
	50,000
	45,000

	Creditors
	85,000
	93,000
	Debtors
	70,000
	80,000

	Outstanding expenses
	5,000
	7,000
	Cash
	15,000
	22,000

	Bills payable
	50,000
	40,000
	Prepaid Expenses
	5,000
	3,000

	Loan from IFCI
	       _
	25,000
	
	
	

	Total
	4,50,000
	4,40,000
	Total
	4,50,000
	4,40,000



Additional information
Net profit for the year 2017 is ` 60,000
During the year a plant costing ` 25,000 (accumulated depreciation ` 10,000) was sold for ` 13,000
The provision for depreciation against plant as on 31.12.2016 was ` 50,000 and on 31.12.2017             
         was ` 85,000 You are required to prepare a cash flow statement.

21.     From the following particular recommend which sales mix should be selected.
	Particulars
	A (INR)
	B (INR)

	Direct materials
	10
	9

	Direct Labour
	3
	2

	Variable Expenses
	3
	2

	Selling price
	20
	15




	






Fixed Expenses ` 800
Sales mixes:
(a) A 100 units B 200 units 
(b) A 150 units B 150 units
(c) A 200 units B 100 units
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